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1. The value of88 X 88 is
(i) 7744 (ii) 7742 (iii) 7743 (iv) 7745 (v) 7747

1 1
2. The value ofSOOE x5005 is

1 3 1 1 3
(i) 2505005 (i) 2505002 (iii) 250500‘—1 (iv) 2505006 (v) 250499‘—1

3. The value of 65 X 65 is
(i) 4223 (ii) 4226 (iii) 4228 (iv) 4225 (v) 4224

1 1
4. The value of59 — X59 — is
4 4
. 9 y 11 . 9 ) 1 7
(i) 3510- (ii) 3510- (iii) 3510- (iv) 3510— (v) 3510-
14 16 16 2 16
5. The value of 33 X 27 is
(i) 890 (ii) 891 (iii) 894 (iv) 889 (v) 892

1 2
6. The value of41-3 x38-3is

2 2 2 4
i) 1598 - (i) 1598 (iii) 1598 iv) 1598- 1598
(i) - (ii) 9 (iii) 11 (iv) 9 (v)

7. The value of 702 X 702 is
(i) 492806 (ii) 492802 (iii) 492803 (iv) 492805 (v) 492804

2 1
8. The value of 80 = X 81 — is
3 3
. 8 2 8 . 1 1
(i) 6560 — (ii) 6560 — (iii) 6560 — (iv) 6561— (v) 6561 —
9 3 11 7

9

9. The value 0f296 X294 is
(i) 87025 (ii) 87024 (iii) 87021 (iv) 87026 (v) 87023

3 2
10. The value 0f799-4 X799-3is

5 7 5 1 1
(i) 639533 (if) 639533 (iii) 639533- (iv) 639533 (v) 639533
14 12 12 4 2

11. The value of 702 X696 is
(i) 488591 (ii) 488594 (iii) 488593 (iv) 488590 (v) 488592



12.

13.

14.

15.

16.

17.

1 1
The value of90 -3 X 89 3 is

5 7 7
i) 8069 i) 8069- iii) 8069 - iv) 8070
(i) 9 (i) 11 (iii) 9 (iv)

Evaluate :9752 — 252

(i) 9500000 (ii) 95000 (iii)) 950000 (iv) 950025 (v) 950975

Find109°3

(i) 1295029 (ii) 1295019 (iii) 1295039 (iv) 1295049 (v) 1295009

Find 7983

(i) 508169592 (ii) 508169602 (iii) 508169572 (iv) 508169612 (v) 508169582

Find the value of50°> +303 — 803

(i) 1000000 (ii) (-1000000) (iii)) 216000 (iv) (-360000) (v) (-216000)

Find the value of4.63+ 43— 8.63

(i) -474.72 (ii) 512 (iii) -512 (iv) 778.688 (v) -778.688



Assignment Key
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